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It is properly understood according to the one who maintains that
the boards were one R thick at their bottom and would
continually narrow down until an yaxN.

OVERVIEW

The x713 says that we can understand that underneath the m?ay it was not a covered
1"71 if we assume that the 2w p were wide (one 7nX) at the base and their width
narrowed towards the top, which was only one ¥2xx wide. If we placed four awap
on the five-nnR-wide wagon, so on top there will be more than three 0’150 between
each board.! Underneath these empty spaces is an uncovered 7",

mooin asks:
= YANND 1Y 19D 1P20INY 1993 RN RN 90 NPT 257999 290 NYPN

n""1p 297 asked; and according to this 7"» (that YaxX> v P 1P22) is it

understood, but since they continually narrow until they are an ¥azx wide -
- 39T HYW 1Y 1239 N1 Y ITIN NNY 9N IN D170 DYV 1709 PYyd

It is possible to arrange six sets of boards or more, for they will place this

narrow side of one board opposite the thick side of the other board
= 499D DINAV N/9 YINY MIPASN YOV MNN YWHY D970 AUV 1NN

And these six sets will occupy a total of three nR and three nwazX so there

will remain eleven 2°15v of air space
= 5919 1255 9392) 9392 90D TV )

And if you will place these eleven o°nov between the o°w1p it will be 7125,

ModIN answers:

! There are four Myaxx to a MoV, At the very top the total width of the four 2wp (each an vazx wide) will be one
nov. This leaves four nnX and five a°ndv (which is 29 onow) of empty space between the three spaces that separate
the four (sets of) 2w p. There is therefore almost ten a°ndv of empty space between the 0w p (at the very top where
they are one y2xx wide).
2 See TIE & nm» 17"7 2,1 'on footnote # 1.
3 The ownp according to this view were like a (right [90 degree]) triangle. They can be set up on the wagons where
the (narrow) apex of one lies next to the (broad) base of the other. [Together they will form a rectangle one 7% and
one ¥23¥X wide by ten nnX long. However it is apparent from the question that they were not actually next to each
other, but rather there was always a separation between the 6 sets of a°w1p.] See ‘Thinking it over’.
4 Five X are thirty 0'nou. Three nx and three Myazx are (almost) 19 o’now; which leaves us with eleven omdu of
airspace. Divide 11 by the five spaces between the six sets, the width of each one is slightly more than 2 o,
which makes it 7125, so the 7"717 underneath is 7017%.
5> Any separation less than three o’nov is considered T2 (as if they are attached) and there is no space.
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And n"715 277 answered that it is shameful to place the thick side, which

stands near the ground, next to the narrow side which was higher, by -
- TP PPN WD PUIM 6)359RT NAY M7 17598 MO0 MWV 0190

The place where the curtains were spread over them, and it is similar to this
which we say, ‘we elevate in holiness but we do not diminish’.

nvoIN offers an alternate solution:
= A9IYN DY 0N2311 11 T3 19UNN 19 I PPN PAY 19T NN 0N 1AM

And the n'"'9 answered that in the same manner as the 207 were taken apart
from the 32w» (the wide on the bottom and the narrow on the top), in the same

manner they were placed on the wagon -
- 89973 NNV 1PN 1999NY YAN NIV XY PYIY 11 79 93 19WUNN 1991 YSN NIdAY

Which was adjacent to the ow» wall, for in this manner they could do it
without difficulty, however to turn the 2°w7p upside down, that would be a
great difficulty.

Mmoo offers a final answer:
= 959 9109 TWAN IX RNYWM 91299111 195 197 NHYNRY 1298110 RNPYT 99N PHYY 139299

And the >'"'1 answered that perhaps they became continually narrower from

their midpoint and upwards, so now it would be impossible to arrange more
than four sets of 2w p side by side.

mMooIN asks:
= 1999799 1ORY 11919 1399957 1931 9NN ON)

And if you will say; from where do we know that we derive the status of a "7

from the underneath of the N3y which were uncovered -
= 2N A9PN 02290 NIV DN /T 92¥190 NI 1Y ANPNRn N ‘]5’)

Let us derive the status of a 1"171 from the covered parts of the M3y and the rule

62,80 Db,
7 The narrow part which was the top of the o°w1p were in contact with the ny>7; they are deemed to be more holy
than the bottom of the o°wp which were near the ground, therefore it is a *X1x to place the more holy adjacent to the
less holy.
8 The wagon was adjacent to the 1ow» wall, when they finished dismantling each w1p (from the adjoining w1p) they
tilted it on to the wagon. The wide bottom side of the w1p was next to the 10w» wall and the top narrow side was far
from the 1own wall. If they would want to place the top narrow side near the 1ow»n wall they would need to turn the
entire ten w1 7R upside down, that would be much more difficult.
9 Each w1p was an 7nX wide up to half their height (they only started become narrower after their midpoint), so they
could not nestle into each other as n"70 177 suggested.
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should be that one who carries four n»R in a ;792 9'":719 should be a»n?2!1?

NB0IN answers:
- 1195390 7Y 99 DTV TN 11T W 9IND 1197 91210 YN

And one can say that we should learn the status of a 7"77 from the air space for
that is similar to a 2'"'771.

Mmoo offers an alternate answer:
= 135595 99N79 121199 NINHNN NON 02910 NIYH 199959 XD XONI1NT 99X PN 13929)

And the 59 answers that we do not derive the status of a 9''579 from here (the

m>av), rather we derive it from 7% ;7am% as the X723 stated previously -
= N 1779 977 D290 NIV NYIY NIN 139999 XD NINN)

And from the m>3y we only derive the size of a 2''71" that it is sixteen n»X wide
(at least) -
= ©390 MY A8 11193929 )P NNNT IND N 1501PN Yo

But nevertheless if not for the fact that underneath the m%3v and between the

v and the sides of the M9y are a 2'"';10 -
$1 0390 MY NIV 1691999 1)’Q7’ M NY

We could not have derived from the n1%3v the minimum size of a 2'';719.

SUMMARY

They could not place the narrow side of the o°wp next to the wide side because a)
it is a °X13, b) it was too difficult, and c) it narrowed after the midpoint. We derive
the status of a 7"717 (not 77Pn) from 7% 1ann, we derive from the M3y, who were
in a 71"77 (underneath, etc.) merely the size of a 7"717 (sixteen NAK).

1037 stated in the name of ®>°11 27 that underneath the M2 was a 1"777; why did not 21 accept this at face value that
the entire underside of the N2y was a 1"711 including the covered parts. Why was it said in the name of 21 that a
7"77 must be uncovered.
A public place (1"777) is generally uncovered. It seems that (according to this answer) the statement in the name of
17 is axiomatic (that a 7"717 must be uncovered), however we need to reconcile it with the statement made by 21 in
the name of "1 that underneath the n23y was (also) a 2"71.
12 The 712 namn was uncovered.
13 91x.
14 See later ¥,0%.
15 mpo1n is responding to an anticipated difficulty; if we derive the laws of a 7" from 7% M, and from the M3y
we merely derive its width, why is it necessary to state that 7" 21 17121 37°nn0; even if 17°NAN is not a 1"'7, but
since the M7y were in a 1"77 and they occupied 16 MnR, that should be sufficient proof that a 2"71 requires a width
of 16 nmx.
16 ' We would say that it is only a ‘happenstance’ that the m23y were 16 nx wide, but it has nothing to do with the
legal width of a 1"71 (which may be more or less), since the m73y were not actually in a 2"77. However now that
17°nAN is a 1"77 therefore we can derive the legal width of a 1" from the nY2av.
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THINKING IT OVER

Why cannot we answer s'n"119 '3 question'’ that they nestled the wide and narrow
parts adjacent to each other, so there was three sets of two adjoining o°wap, and
there was only two spaces between them, each more than three o°nov?!®

17 See footnote # 3.
18 See X"wnrn and 7manT K.
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